
1) An amount was decreased by 8.9% to 
$127.00. Find the original amount.

Answer: ____________

2) An amount was increased by 3% to 
$243.00. Find the original amount.

Answer: ____________

3) 20 ÷ 10

Answer: ____________

4) 14 x 13 x 7

Answer: ____________

5) 3 x 4 ÷ 16 ÷ 3

Answer: ____________

6) 120 ÷ 10

Answer: ____________

7) 14000 ÷ 1000

Answer: ____________

8) 1400 ÷ 100

Answer: ____________

9) 1300 ÷ 100

Answer: ____________

10) 1900 ÷ 100

Answer: ____________

Total: ___ / 10
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Answers:

1) $115.70 2) $235.92 3) 2 4) 5) 6) 12 7) 14

8) 14 9) 13 10) 19

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

January 29, 2018

http://www.geekschool.co.uk

